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A compound had a molar absorptivity of 3.03* 10® Lem™'. What concentration of
the compound would be required to produce a solution that has a transmittance of
9.53 % ina 2.5 cmcell?{10 %)
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What is reversed-phase HPLC separation? (10 %)

— - Define the following terms : 5 points each (50%)

(1) Organic Chemistry

(2) Lewis acid and Lewis base

(3) Nucleophilic 1,2-Shifts

(4) Covalent bond and Polar covalent bond
(5) Markovnikov's rule

(6) Aromatic Compounds

(7) E;

(8) Sny2

(9) Conformational isomers MJ /E/\ / E
(10) Zaitsev's Rules




